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Describe each slope below as either positive, negative, zero, or undefined.
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I a function has a rule of y = 5x+2 what is the cutput when the input is 47 8&

Y 5(4) +a

- Using the same rule, what is the input if the @u-&gut is 122 9\ = Abt+a
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4 Scenario 1: Mike had a balance of $81 on his credlt card for a eHartment store. He just purchased 3

swea’gshlrts and his balance is now $147. \I . $ A creol|+6am’ X 8“\ !'{-'l (0‘0 L _
A. "What is the rate of change and what does it mean in context? m-\e?ﬂ Ono.ﬂgp 3

12. Fmeans \e paid $21 Per_Sweaishirt.

B. Whatis they intercept and what does it mean in the context? b‘ AT NEanNs nelve.
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c.  Write the equation for the context: 2:{! ZZ){"' m %“'ﬂ M nﬂ lOdlai’\ &
oA Credsicout lﬁ C ),
D. What would the bzlance Pge; cn hisgard ifhep rcrlEaa% d 5 swea‘tshnrts? - 22 g) +81
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One dieter bn o welght-ledSeontest welghed 149 pounds after £ weeks on
his diet. BY week 13, he welgned 134 Pouvw{s #The Slope- Wou d be
1. What is his welght loss per week? 3 1bs —BPEhlr\qlic%ffl\éasg'i?;l
2. How much will he wetah afeer 16 weeks? A9 by 3 IS each week:
3. What was his welght whew he starvted the diet? 175

Scenirlo 2

" $cenario 3:

Eddie is interested in hiring a moving company to move across the state. He has

researched varieus companies to use. o _
(O _ied Company |

Company 1 charges based on the equation &= 12m + 250. C’ ‘1(50}250
Company 2 charges based on the following table: 85'
Miles (m) 50 T - |100 7"
Cost (¢) $1000 $1500 Cbmm“%\ o0
J

Whach company offers the best rate for a move that is less than 50 miles?

Company | would be less (850) than Company

A 1,000. |
2. Which %pany has the greatest rate of change? CO m Pan\! I

Company | Iz
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